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TNUSRB - SUB INSPECTOR RECRUITMENT TRAINING - 2022
MODEL EXAM | - GENERAL STUDIES AND PYSCHOLOGY

Which spectroscopy is used in chemical examination of interstellar space?
a. Microwave Spectroscopy b. Infrared (IR) Spectroscopy

c. Raman Spectroscopy d. NMR Spectroscopy

allewiOeueiiufedr Geudl SuITUIEFSDHE 6hd DjemevlTaeouilcd LWETLHSBSI

a. [HICITIEIENED S|6NGVLDTENEVUIUIGD

b. esdleutiy (IR) oiemeviomensouilivisd

C. JTLDGHT SIM6VLDTENEVUTUIED

d. 9Essm FMhH PHHHM6| DIe6eVLDTENEUTUIED

The first battery was made by

A. Joule B. George Simon ohm
C. Alessandro Volta D. Newton

(WPFH60 LIBIBHVHNSH 2 (HeUTS!LIGUT

A. 260 B. sgniiey ewgioest @lb
C. 90evdamani_Gym GeumeoL T D. mluyl L e

If a lift is going up with acceleration, the apparent weight of a body is
a. more or less the True weight b. equal to the true weight

c. less than the True weight d. more than the true weight
el 2 wigHgdl, Gwed Crréad (wésliup Gurgl welsHelar CHTBM eenL
a. 2 _ewienD eTML MW Al HFHBD DIGLLFH (GHDMBA

b. o_awienip eTenL_@ FLDID

C. 2 _6Wienld GTeLed! Qi (GHmBey

d. o _eiienip eTedLenwl &l OIFHEID

Sound Travel in air in the form of
a. a transverse wave b. a longitudinal wave

c. both as longitudinal and transverse wave d. None of the above
STBHBIL 60 DINEVHET LIT6YHED 6UIQEILD

a. GDIHBEN6EOHEI b. QL L enevdeir

C. OBL L en60&H6IT OBEBID (& BIhEHMme0HE d. GBI a1HID Be0em6V
Sodium chloride is an example of crystal.

a. Ionic b. covalent c. Metallic d. Vander Waals
Gamouid &GenmenL. LIgeud UIRSHSHH 6 1BHHISHHTL (B

a. owel LNenewuriiL] b. 5& Nenewrii

C. 2 Bouras LNemevoriiL] d. auTewILT 6umed LNemeuoriiL]
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The compound used in breath analysis test for drunken driving is

A. KyCrOy B. KI C. KMnOyq D. CuSO,
D& SIHHS aTHaDd @l BGauend HeiBLISHGD FaumsliuGluruia CFmHemearuied
Uwetu® @& o

A. KyCrOy B. KI C. KMnOq D. CuSOy4

Which of the following are wrong?
I. NaxCOs is used in softening hard water
I1. NaHCO:s is used for bleaching cotton and linen in textile industry
III. CaSO, Y2 HO is used for plastering fractured bones
IV. CaOC(l; is used in making of baking powder
A.lTand IV B. Il and IV C.Tand III D. Il and IV
L63T6U(HEUGTOUBMIGT HAUBTEIT6NE! 6T6n6?
[. NaxCOs; senr meny OLossiesiyme  omBpruweaLIGaSBE)
II. NaHCO3 umsa), eeien slenildemen Glel@nohasll LGS B
[I. CaSO4 72 HyO (1ppfiiba  6Te0IDLIBem6T Gl L edaudhdll LILTLIHEBS)
IV. CaOCl, QpmiigdGamim swimfldbsil LweaUHSBS
A. T wppo IV B.II wpmp IV C.T wpgw Il  D. I wign IV

What is the compound of calcium in white-washing building?

a. Calcium carbonate b. Calcium hydroxide

c. Calcium oxide d. Calcium sulphate

S LLMBEHHEG CesTenemgliidBE@ LweaL®BD sreodlwshder G 61g)?

a. sreodlwid SmTuGer b. smeodlwid evaml gTEmaFH

C. smeodd HHMFH d. smeodluwib geoBur

The Indian Salt Petre is

a. Ammonium nitrate (NHsNO:3) b. Sodium nitrate (NaNOs)

c. Potassium nitrate (KNO:3) d. Calcium nitrate Ca(NOs)»
@b Hwer Fmeol LT elerug)

a. oGureiuwd epl Gyl (NHHO;) b. Gamouid ewpl Gy (Na NOs)
c. GuriLmfwp eopl Gy (KNO3) d. smeodwb ewpl Gyl Ca (NOs),
Name the raw material used in the production of glass

a. Mica b. Quartz c. Plastic d. Silica

sewrenimly SWTMNed LweTUGSSLILBLD eLpeolIGUT(hHeT wimgi?

a.6MLDEBBIT b.@eumim_erd C. Lenmerdigé d. felam

Which one is called buck minster fullerene?

a. Graphite b. Diamond c. Ceo d. Co
o1gl USLOeNerOLT Lebeufledl 616aIml DIMSHLILIGHMBSI?

a. <3§1UF[66)LII'_ b. 60’)6)JULb C. C6O d. C90
Expansion of DDT is

a. Dichloro diphenyl trichloro ethane
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b. Dimethyl dichloro trichloro ethane

c. Dichloro diphenyl tetrachloro ethane

d. Dichloro diphenyl trichloro ethylene

DDT eemuger alfleurdaid

a. L GCemmGym evLLlemeied 9emy &Genm@ym mdHGHeot
b. L GsHed enL_&HBemGym 19eny &GGenmGym F&HGHe0T
C. mLGGamCym ewLLlemested GLLgm &GenmGym mdHGHeu
d. ewL@GemBym v Liemasted 19emy &BeTGyT 61856 6

Advanced Family of Monocotyledanae is

a. Musaceae b. Posceae c. Solanaceae d. Orchidaceae
R aldHHemev FHTaugsd GhHLoUSHHe0 GbUTH DL [HSH G BHLDLID

a.1ouBud b. GurBu&] c. QFmeuBammend  d. &yTHHGL 61
Alcoholic fermentation takes place in which organism

a. Yeast b. Fungi c. Bacteria d. Virus
SLLHABTEISH OBTHHHL HewL OLmID o ulflerd erg?

a. meroL b. uehens C. umdtefluim d. enauyerd

What is the normal pH of human blood?

a.”7 b.7.6 c.74 d. 6.8

wels Brssdsder pH iy wrg?

a.”7 b.7.6 c.74 d. 6.8
Who constructed a model successfully for DNA first?

a. Barbara Mcclintock 1965 b. Melvin and calvin 1963

c. Watson and Crick 1953 d. Hatch and clack 1965

Bauzmefled W (pHeiiwsHedeo DNA &@ Geoupniarors wordifl aigelbd
CBTHSHSTTH6T?

a. urrurym  Qddeflen mds 1965 b. Gosvaest w@B@ID SHTevailet 1963
C. auml et o@EId Hfldberd 1953 d. Gam& wBmID erdevTH 1965

Structural unit of a gene is called as

a. Cistron b. Recon c. Muton d. Codon
NG OIGMIOLIL] DIVE) 6IGTLIG
a. FerOL_ymesr b. féemmeit C. UL L_mesT d. Gammedt

The drug most widely used against AIDS virus is

a. Zidorudine b. Miconozole  c. Nawoxylol d. Virazole
AIDS o uiitQsmebed emeugerdd@ 61&HIme LWSTLGHSUBLD LoHHN6T LT

a. mFGLmepgelt  b.ewBasnGamBamed  C. piGamengevred d. alyBamed

The radiation with highest energy is
a. X-ray b. UV-ray c. IR-ray
d. Visible light e. Answer not known
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DFHD YBBIL &1 alleNBIGD HIHTeTF&H DG LD.
a. 6Iberd HHI b. up eamTd HHIT c. gFdalli H
d. seavianip el e. el OFHfluialevensv

When detergent is mixed with water, the dirt from clothes is easily removed.
This is due to

a. Pressure b. Viscosity c. Surface tension d. Force

BHLST Fflg  FeomeUSBHITET HeUHEH HlEWeUSHITeL, GHlewluled IIPHE 616160
SISBBLUGL BbhSH LIWISE STJeulD

a. SpHHID b. umdéuied c. Uyl Bupeiens d. aleng
Which acid is not kept in glass bottles?
A.HF B. HCI C. HBr D. HI
bd SINVSHMDH HewTewiTy GbHMauuled emeuHd (LPIQUITSHI?
A. HF B. HCI C. HBr D. HI
The Technology used for stopping the brain from processing pain is
a. Precision medicine b. Wireless brain sensor
c. Virtual reality d. Radiology
e. Answer not known
CLPGRGITULITEUT S aUeVlemWIF CFWeLTHGH NS BRSSPI UWTUBSHSUILIBLD
CHTHEOHIL LID
a. Slevedwl L[HHSHIAID b. asibiulsveor cpenem 2 _ewiiTal
C. QUUIBST 2 ewienio d. sgflwussalusd

Buffer solutions are used to

a. Decrease the pH value b. Change the pH value

c. Increase the pH value d. Maintain the pH value

SHTHIBH60 HMIF60 IHBHTH LITBHBSHI?

a. pH wdlemu Gomnsss b. pH wgllenu omBpieusBE

c. pH waliemu sidsfss d. pH wdlenu omsroed eeushd b
World’s First Malaria Vaccine
a. Mosquirix b. Bedaquiline
c. Clofazimine d. Cycloserine

e. Answer not known

® eudlell (PpHev LGeuflwimg SHBHLILS

a. er@fderd b. GuLT@emeves
c. &GenmuTédenLoest d. engsGenmGafer

The major cause for the depletion of Ozone is

a. Aerosol b. Hydrogen Sulphide
c. Hydrogen Sulphate d. Carbon di oxide
Camement SIPSHGSLD (PSPl SHTFevl

a. HIGLILL6VLD b. ewami ymeir Fev. .emLIB
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® (HEUTHES LIWIGTLIHE S 60T,

C. evamLlymer Fev. .CuL d. sriuaienL  SLbmFH

Minamata disease , a neurological disorder affecting human beings, is caused
by the pollutant
a. Arsenic b. Copper c. Mercury d. Aluminium
eitaumd  6bg  om&  “iBle@Guol L Gmmul”  eteniu@Bd el THeMest  HLDL
LOGWTL60HMS SHTHHD Gprulenet gBUBSHHIBBSHI?
a. oYfiFeld b. smfgid  c. ursyFd  d. Seideiuid

The mineral having transparency and hardness.
a. Gold b. Silver c. Copper d. Diamond
o6l 2 (B(HeUSTIUISID WBBID HYTSHHATENIOU|D GlBTEmIL  SHeTLLD
a. HBIBID b. Geueirer c. QF1by d. enauyid

Which of the following statement/s is/are true in respect of lightning?
(i) Heated air sends Shockwaves through the atmosphere
(i) There must be a mechanism present to start rotation.
a. only b. (ii)only c. Both (i) and (ii) d. None of the above
LO63TeTen60  QUIT(HSHHUBMIEL LletToU(HD FaBmIH6eTED 61FH 2 mTenLOUIT6d)?
1. @GLTeT STBMI 6UTLDERIL 60D UPNUITS SHIFHTEIMeVHN6NT DIDILIL|BHBSHI
1. spBdfleowd OHTLMES @b aubl(wenp Smsbs Geuemt(BLD
a.1i B0 b.ii @D c.i wBpw ii GyewiGd d. agedstenev

One atmospheric pressure is equal to

a. 1.013 bar b.1.013 x 10 Pa c.1Pa d. None of above

Q(H UG 60 DIDSHHID = .

a.1.013 bar b. 1.013 x 10¢ Pa c.1Pa d. GuBapslu e1EIe060m60
The term "Chromosomes" was first coined by in 1888.

a. Waldeyer b. Robert Brown c. Robert Hooke d. Theodor Schwann|

aTedtliuT 1888 60 “&GymGomBamibdei” 6B  OFTeLMEY  (LPHET  (LPGH6eVI6D
a. eumeoBLwiT b. gmum’ Gyemest c. grum’ efs  d. HOwILT erdFeuTes|

Match the following with correct options

A. Gram Sabha 1. Municipal Commissioner

B. Panchayat Union 2. Executive officer

C. Town Panchayat 3. Block development officer

D. Municipality 4. Permanent body Corporation
QUT(HSHHISH:

A. #gmo FenL 1. WIBEIT. & LED6mTULIT

B. uehsmwigss wpeiluwiest 2. QFwed oIFHHmil

C. Guemym_d 3. QUL euenTFd] ©IeIeU6VT
D. maym’ g 4. HIHSHT DeOIOLIL]

A B CcC D
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32. In the Kesavananda Bharati Case, the Supreme Court declared that

i. the preamble to the constitution of India is not a part of the
constitution.
ii.  the preamble to the constitution of India is a source of power and a

source of limitation and prohibition.

iii. the preamble is an integral part of the Indian constitution.

a.ionly b. iii only c.iand ii d. ii and iii

Cagoumabd UMTEH UPSESe0 2 FFHAHIW@IBD PRSI ST  FTITDFLOTSHS

BHIPHHWIL. FnBBIH6INeD 61 .6Tewal Ffluwimerenel?

i. BhHu  oPFwemlIF  FULHHS  (PHAD]  SIGIGITFLICOMLOILIE
FLLSIHST Q(hH DIBIGBLOEV6V.

1i. BbaHu SIFFWILEDLOLIL|F FLU L SIeor (LPHE6NT, DITFH BT H36]
CaTHBBIeuTUITS|LD DTF H BT HMSHD &L BULGBSHIBID LITLIBE
® 'L LSTHAD 2 (HEUTSHSBLILILL G.

1. (PpSeeDJ 6IdlG  Sbalul SITFWeoemolI]  FLL SHH6T  Q(HEISeN6mIHF
U@G&HWITGLD.

a. i’ (b b. iii o’ B C. 1 Lommd i d. ii @b iii

33.  Who was the Chairman of Official language commission in 1955.

a. KC Pant b. GB Pant c. SK Dhar d. BG Kher

1955 Sib LEWIYEL DIVIOIEVS GIOTL DLENEITSHSHIET HEWeV6UT WIMT?

a. Ga.4.ubs b. &9.19.ub S C. 61610.8%. ST d. 19.99.0am
34.  Which Amendment has made provision related to ‘Nagar Palikas’ (Urban Local

Governments)?

A. 73 Amendment Act B. 75t Amendment Act

C. 74th Amendment Act D. 70t Amendment Act

BST UTIST FLLID &b FLL HHSHILD LG

A. T3augl UL SHHBHHID B. 756ug gL SHHmHIHHID

C. 741z &L SHFHHSD D. 706ug g1 1L 53 HHHID

35.  Under which Article, the Governor can promulgate ordinance when the state

legislature is not in session?
a. Article 356 b. Article 213 c. Article 153 d. Article 163
bd SIFwed FUL g SEHHT FULIAMBD dmlTdh Curgh EenLSaHTev
FLLMISm6T Quimnluwieurid?

a.alg 356 b. alg 213 c. ol 153 d. afg 163
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36. The Jammu and Kashmir reorganization Act, 2019 is enacted for the purpose of
i Creation of Union Territory of Ladakh;

ii.  Creation of Union Territory of Jammu and Kashmir;

a.ionly b. ii only c.iand ii d. none
OLD(LP-BTORLET LOMIGUENTUIENMBEF FLLID 2019 obD CrTeHaHHBHTH
BleBCauBMBLILIL L )

1. LTS UGHeow upefiwie LIg8saiomda

ii. ID(p-BTadbeny upeiwler LIT8HaFIoToHS

a.1 L B b.ii @b C.1 wmmib ii wl (Hid d. gsidevenso

37.  Which part of the constitution deals with official languages?

a. Part XVII b. Part XIV c. Part XVI d. Part IV- A
SpFwevsmoliied 6hd LGS o g Gomd uBp eleufssing?
a. ugd XVII b. ugsh XIV c.uggd XVI d.ugg IV-A

38. Consider the statement :
i. Untouchability was abolished under Article 17 of the Indian Constitution
ii. Article 17 of Constitution does not define the word “Untouchability’
a. Statement (i) is correct
b. Statement (ii) is correct
c. Statement (i) is correct but (ii) is incorrect
d. Both statements are correct
FaBBIHEN6T SHITTUIS.
1. SeWiLTen SISBBLIU Gl LS — 2 piiy 17 @hsHu opdwevenolil] &1L Lb
1i. SHeWILTEDID 6T6ILUSH DFFuleveniolil] FUL 2 mii] 1760 suenJuIBISHLILIL al60696V

a.i w @ &l b.ii w @G &M

c.i af il afluedev d. 8yewi(p FmBmIBEHD i
39. The Panchayat Raj was inaugurated in the year

a. October 2nd 1956 b. October 2rd 1959

c. October 2nd 1960 d. October 2nd 1978

LEhFTWHSH SITHMMIuID Hleudbs meusslll L Suenilb?

a. &156Lmur 2, 1956 b. &&GLmuir 2, 1959

c. 916U 2, 1960 d. waur 2, 1978

40. Reservation of seats in Panchayati Raj for SCs/STs is according to which of the
following articles?
a. Article 243 (D)  b. Article 243 (A) c. Article 243 (B) d. Article 243 (C)
SDAHAUSTAIBMBIET 6lhgh alHuler S UehFTWSHHTTEY Siemoliseied SC BB
ST Ba15aHaIHbHTET DL @HIGSEH LB FaBIdBg?
a. Uifley 243 (D) b. Uifley 243 (A) c. fley 243 (B)  d. 0ifley 243 (C)

7 | Page
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Match the following

Natural National Symbols Adopted Year

A. Peacock 1. 2008

B. river Ganges 2.2010

C. River Dolphin 3.1963

D. Lactobacillus 4. 1950

E. Banyan Tree 5.2012

QUT(HHHIH

A. 1oufed 1. 2008

B. smenas suml 2. 2010

C. subm Lmev. LT 3. 1963

D. eoraBLm Gudledeverd 4. 1950

E. seoogid 5. 2012
A B C D E

a. 4 2 1 5 3

b. 3 1 2 5 4

c. 4 2 1 3 5

d. 3 1 2 4 5

Which of the following is/are correctly matched pairs?
a. Indian coast Guard - 19 August 1978

b. Indo Tibetan Border Police - 24 October, 1962

c. Border Security Force - 1 January, 1965

a. I, IT only b. I, III only c. I, II only d. All the above
Lereumeuenioummlen Fflwme Qummbhe SDenenismensd CaHTa|6Fuls.

L. BphHws HL_Geumrd SHTaled Ll — 19 gdHedl 1978
II. @ECsr — FHOusHW e60emevd HTaued Ll — 24, DIHGLTUT 1962
III.  eTeLem6ULI LITHISMIIL] LWL - 1 ereufl, 1965

a. [, IT (b b. I, I w1 (b c. II, IIT o1 (p1b d. GumampPu SimearHaID

Choose the incorrectly matched pair

a. Pradhapa Mudaliar Charitiram - First Tamil Novel

b. Ponniyin Selvan - Kalki

c. Chithira Paavai - Akilan

d. Kadalpura - Abdul Rahuman

SHaupTaLll QuTHbHHW Eeneuienwld CHIHoHMH:

a. Ugsmu apgedlwnt sfgaHrn - Sop Gompbluler (pwHed Liglerd

b. GQureiteiufer GaeveuesT - B60H)
C. HFriumemey - 9I&levei
d. sLeoLmm - OILIHI6V] (LT 60T

Who was the first Foreigner to receive the Bharat Ratna?
a. Nelson Mandela b. Benazir Bhutto
c. Khan Abdul Gaffar Khan d. Winston Churchill




45.

46.

47.

48.

9 | Page

UTyS® JHem al(hdl GUBB (PpHe0 GeuelIBTL L6l wimr?
a. OpeLFer LDETGL 6VT b. Quenmdl Ly GLm
C. BTG SIIFHIG0 SHTLITHTGT d. elesteroLeir FirEFdlen

Choose the correct statements about Mother Theresa
a. Founder of the Missionaries of Charity
b. She was one of the recipients of Raman Magsaysay Award
c. In 1979, she was awarded with Nobel Peace Prize
d. In 1980, she was conferred with Bharat Ratna
a. I, II, IIl only b. I, III, IV only c. III, IV only d. All of these
Slaienet OHraT uBn sEmBoiIselled FflwreareuBenss CHTHOSHM.
L Wegerfled &1 .01 CFflllly e6iemid Hiemiolienul HipieluleuT
II. pgmosr wxCF8F al(mad GUBMBaITHMND EIHD (HEIT
II. 1979 — sub oewih Siemwddster GpTued Lfla GuBBeuT
IV. 1980 —saub suewip umysh gHemm alhal Sjeflbsiiul.( Obenyaldsaliul L.
a. L IL III w0’ @G b. IL IIL IV w @b c. IIL IV w' G d. simearsgib

Choose the correctly matched pairs
I. Second Indian to pass ICS - Surendranath Banerjee
II. First Indian ICS officer - Satyendranath Tagore
I1I. First Speaker of Loksabha - G.V. Mavlankar
IV. First Finance Minister of Independent India - John Mathai
a. ], II, IIT b. II, 1T, IV c. I, IV d. All of these
gllwmsl GuTdbhHW Smenuianuld CHTHoHMH
L. ICS-o0 Baitdd QuBB @gewiLmbd @pbHwim - &CypLrmrs GCuenTed
II. w0 @b ICS oevaienT - FHOWHAIBTH HTInT
OI.  Geurdsgemuuler (pspev FumpmwaT - G.V. LoTeleonmisT
IV. &gpdly @pHumaler (1psHe0 HHUHIDFFT - £3T6T (OTHTUI
a. I I III b. IL, 111, IV c. L 1IL, IV d. @meu SIMTSHSHID

Who is known as the Missile Woman of India?

a. Valarmathi  b. Kalpana Chawla  c. AnnaMani  d. Tessy Thomas
AhHuwinele 66 sement GO 6T6TImI DIMLDSSLILIBLIGUT WITT?
a. aleNing) b. @evuem Fmeleum c. oevrermoenfl  d. GQLervend HToerd

Choose the correctly matched pair/s

L. McMohan Line - India and China
II. Radcliff Line - India and Pakistan
III.  Durand Line - India and Afghanistan

a.LIlonly b.1 Il only c. I, IIl only d. All of these
gllwrasll QuTmphHW Seneuienwld CHiTmHoHMH:

L. O&Gorser Cam(® - @hAHWT wBBID Feort
II. Gplsefls Carp - @hHAWT BLID LTElerdSHTesT
.  swbhs Csrlh - BHHWT BB DYLISTETNEOSHTET

a. L, Il w.eo b. 11 w @Gw c.ILII w G d. CuBeampu Simearsaid
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Match the following

A. National Physical Laboratory 1. 1950

B. National Chemical Laboratory 2.1947

C.ISRO 3.1969

D. CSIR 4.1942

CUT(HSHIS:

A. BGxFw BuBLIwIL SLU16 HFL LD 1. 1950

B. Gxdlw Gauglulwied suuie)dh &L Lb 2.1947

C.ISRO 3.1969

D. CSIR 4.1942
A B CcC D

a. 1 2 3 4

b. 2 1 4 3

c. 1 2 4 3

d. 2 1 4 3

Who has been appointed as the new Chairman of the National Commission for
scheduled castes?
a. Roop Chandra b. R. Sridhar
c. S. PraveenKumar d. Vijay Sampla
U uwedersH8HT(hEHTar CHFW SHLEMeIUISHET HeMevaUTTH BUIOSSLILL (HeiTemeuT,
a. epll FhATT b. R. nfsi
c.S. Uyeier @Lomt d. elegui Fibueor

The first state in India to Commission the farm based Solar power project under
PM-KUSUM Scheme is
a. Tamilnadu b. Gujarat c. Rajasthan d. Haryana
PM-KUSUM &L A  uemienent  Sligliledluleomesr @il gébd e
© BUSHH DLEmeVENU! DIMIDGHSH (LPGH6V LOMHI60LD
a. SODHTH b. &mIms c. @mmegervgresr  d. emfuimen

Adoption of ‘Roadmap 2030" by India is to
a. Increase the number of electric vehicles
b. Make India a $5 trillion economy
c. Increasing the use of solar power
d. Elevate ties with UK
‘Grm_Gotr 2030° & @hAHwT GoBO®T6TeUHIT ST 6mILD
a. QIS 6UTHEIhIGB6T6 616301601 HMBMUI DIH BB SHHISHED
b. @bFHw QurmeTEHTIHmS $5 19flevedwienms o wimhaigHeo
C. Gw FH5F LWETUTL DL DIFHHMHH60
d. @nideonha o Leamear 2 _meneu GbLBSHSEHIH6
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Identify the incorrect pairs based on India’s rank
1. Corruption Perception Index 2021 - 85
2. Global Digital Skills Index 2022 - 2
3. Democracy Index 2021 - 52
4. US Green Building Council 2021 - 3
a.2and 3 b.1and 4 c.land 3 d.2and 4
SphyHwnaler L HmHl QUTBIGHSHI HOUBTET SeNETHM6TDH H6uIL 3w
1. eanped Ljevenmuley GHBui® 2021 — 85
2. 9L 60 FHpeiiHeT DL euener 2022 — 2
3. mepTwd @Mluil 2021 — 52
4. 900flds usmd S I9L Hayerded 2021 — 3
a. 2 By 3 b. 1 wBpid 4 c. 1 ioBmub 3 d. 2 wBmb 4

Indradhanush 4.0 mission is a programme aims at

a. Self-reliant defence b. Integrated digitalization

c. Universal immunization d. Highway connectivity

ObFHT e 4.0 BUSHHIHET (HHTENLOWITET GHTeHELD 616316017

a. SMEFTTYHLUI LITSHISTLIL b. @ErBEHmNIHS 192 1L 60 DUILDTEHSH60
C. SMHBGWD HBHLUILS d. OBBEhaTemeL EEMeuTLiL]

Which is the first state in India to get the “Graphene Innovation Centre”?
a. Tamilnadu b. Goa c. Gujarat d. Kerala
@bhHwreler (pHeo ‘STl SewiBLligli] wwsHend  CUB6TeT LOTH6e0D
a. SOPHTH b. Gamour C. GH|UTSH d. Gayenm

Which of these was shaped by Mahalanobis model of growth?

a. Industrial policy of 1948 b. Industrial policy of 1956

c. Industrial policy of 1977 d. Industrial policy of 1980

L0&60@eoTTL6rD QUeTTE & Lomgflulesr SlLILIenLUileD SIMLDHSBLILIL L

OBTPBOBTeTN ?

a. 1948-61 QFHTPBOBTETNS b. 1956-651 QFHTPBOSTETENS

C. 1977 —ea1 GaMOBO®ETeTENS d. 1980 —&1 QHMABOSTeTNS

The mode of revenue collection was known as the ryotwari system which was
Innovation of

a. William Bentinck b. Lord Curzon

c. Wellesley d. Sir Thomas Monroe
aflau@edld@h audl(penpenwl Jrwgbeumflulled L@ sslweu
a. allevevlwid GLIesTIgMI b. 5 Y s

C. Qeuev6IEVEVEI d. &7 Hmwerd &IGyT

During which time period there was a rapid growth of population in India
a.1901 -1921 b.1921-1951  ¢.1951-1981  d. 1981 - 2001
AhHwmaled alenyeutet HHMOBHTMS UTES 6hdH DLewIBH6MN60 Hlevaluisl
a.1901 -1921 b.1921-1951  ¢.1951-1981  d. 1981 - 2001




59. The Three Annual Plans were implemented in India during the year

a. 1965 - 68 b. 1966 - 69 c. 1967 - 70 d. 1968 - 71
BphHWTaled el (B DLewIH S LD HeOL (pens UGSHSUILL L  SHTelD
a. 1965 - 68 b. 1966 - 69 c. 1967 - 70 d. 1968 - 71

60. Which of the following is incorrectly paired?
1. GNI - Gross National Income
2. GDP - Gross Domestic Property
3. HDI - Human Development Index
4. HDR - Human Development Report
a.3 b.1 c.2 d. 4
1% HUBTHL OUTHGHSLILL (HelTerng)?
1.GNI - pay Gsdlw eumeumul
2.GDP — par o 6mpm G CarsHgl
3. HDI — wefs euenitéddl @nlui®
4. HDR - weafls eueniiddl onfldens

a.3 b.1 c.2 d.4
61. Match the following
District Industrial cluster
A. Coimbatore 1. Knitwear and Readymade Garments
B. Tiruppur 2. Leather
C. Madurai 3. Textile and IT
D. Sivakasi 4. Fireworks, Matches and printing
QUT(HHHIS.
LOTGUL_L_LD CTHlevgiemm BTG
A. GamubuSST 1. Ueiteoieumenl LOBBID SLUISHSH LeOL SH6IT
B. Sy 2. B@xpme
C. gy 3. OpFe] el H6IT OBBID HB6UED OCHTHEOHIL LILD
D. Heusnd 4. U Lrg, HUEUL L, DFHABH60
A B C D
a. 1 3 2 4
b. 3 1 2 4
c. 2 1 3 4
d. 3 2 1 4
62. Who established the first English factory at Surat in 1608 A.D?
a. Thomas Stevans b. William Hawkins
c. Sir Thomas Roe d. Job Charnok
1608- o0 Wiy IS BBIL (PHeL B0 OHTHBFTMLMW  HBeTuwlelT
wIrir?
a. SHTD6r0 6IOIeAIGTEN b. aflevelwid amTdhdaerd

c. g Hmoerv Gy d. sgmi gniprse
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63. Where did the Moplah Rebellion of 1920-21 broke out?

a. Orissa b. Kerala c. Andhra d. Karnataka

1920-21 60 wmlienT H60HD HOLOUBB L 1D 618H?

a. @flerverom b. Gasyemm C. SYbFyT d. sIETLsb
64. Match the following:

A. Individual Satyagraha 1.1942

B. Quit India Resolution 2.1940

C. Cabinet Mission 3.1947

d. Mountbatten Plan 4.1946

A. salpuUT FeHHwndlysid 1.1942

B. QeusitememuiBerr GeuefGuim griomentid 2.1940

C. amien gHTaIsEAD 3.1947

d. Guermest Gui’ et L 1D 4.1946

A B C D

a. 1 2 3 4

b. 3 4 2 1

c. 2 1 4 3

d 4 3 1 2
65.  When was the Lord Rippon’s resolution adopted?

a. 1992 b. 1858 c. 1882 d. 1870

erIGumrgy Miuedr gy SHiomend egmalil L g)?

a. 1992 b. 1858 c. 1882 d. 1870
66. Umaithurai was impaled on

a. November 16, 1802 b. November 14, 1801

c. November 16, 1801 d. November 11, 1801

oaenOSHSHINT SCoummULIL L Lewi(h

a. paubuit 16, 1802 b. maubuitl4, 1801

c. paubuit 16, 1801 d. meubuit 11, 1801
67. Match the following and select the correct code given below.
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A. Atmiya Sabha

B. Dharma Sabha

C. Servants of India Society
D. Seva Samiti

1. Gopalakrishna Gokhale
2. H.N. Kunzru

3. Ram Mohan Roy

4. Radhakanta Dev

spareniuaBBlene Fllwns CQuTheH, Fflwmer almLemw CHTHosbBHS

A. g0 Fum
B. &m0 gur
C. Qafrouet. o1 @pHwr CFTeamaL g

1.8smumev &l(magent GamaBev
2. (G6I6r0eH
3. @ymb Gordest Fmul

D. Gzaur 5108 4. mreraresd GHell
A B C D

a. 2 4 3 1

b. 4 2 3 1




68.

69.

70.

71.

72.

73.

Match the following;:

A. Calcutta Corporation Act 1. 1905

B. The Universities Act 2.1907

C. Partition of Bengal 3.1899

D. Surat Split 4.1904

SLPHEWILAUBENB  CLIT(HSHHIS5.

A. 36055ST WOTHSIT S FULID 1. 1905

B.uesvdenevd HpHF FLLID 2.1907

C.ourisll Lflellener 3.1899

D. &5 Wenay 4.1904

A B CcC D

a 1 3 4 2

b 3 4 1 2

C 4 1 2 3

d 1 2 3 4

The count poet of Samudra Gupta was

a. Harisena b. kalidasa c. Sanku d. Dhanavantri
URISENMTHFHeT b6 T

a. amflGger b. &refsng C. gmIG d. seeupHf

was the land gifted to temples.

a. Vellanvagai b. Shalabhoga c. Brahmadeya d. Devadana
Camalle0®EnHGHd CBHTENL TS GUPRIGLILIL L [HleVmIGHET DG LD.
a. Geuenmemieusns b. gmeu@ursid c. pbwBswid  d. Cxeugted
Who revived the later Chola dynasty?
a. Vijayalaya b. Rajaraja I c. Rajendra | d. Athirajendra
UBsreo Gamyp eubgdhengd WL OGLIDF OguigheuT wimr?
a. alluiImevuIeH b. wseomb gregyTEg6st
c. wmpeomd grCmkdrear d. @FHmGegihae

The surface temperature of the sun is

a. 2000°C b. 6000°C c. 15000°C d. 15000000°C
Gflweier GoBuriy Geuliuplenesv

a. 2000°C b. 6000°C c. 15000°C d. 15000000°C

Asteroids are found between
a. Mercury and Venus b. Venus and Earth
c. Earth and Mars d. Mars and Jupiter
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GBIRIGCHTEIHNT BmalHEhHEG EewL ulled STerlILI(BaseTm3e6T.
a. Uset oBmib Geuererd b. Geueitel wHBE@ID Lo
C. yil BmID OFeieuTul d. Ogeieurul wBEBID eNuITLDEsT

74.  Match the followings

a. Winter season 1. Mid September - November
b. Summer Season 2. June - September

c. The South-West Monsoon season 3. November - March

d. The North-East Monsoon season 4. March - June

QUT(HHHIH

a. Gefitsmeold 1. HFHw OFILIDUT - [HeULDLIT
b. GauefiiBamevid 2. 2°68 - QFLILLbuT

C. OxeBB@ Lmey STHBBI SHT6e0D 3. [BOUDLIT - LOMTH

d. e dpd@ UmUSTBE HTeVD 4, LOMTEF - 892600

a b C d

Q= DN W

4
4
2
2

N =
B W W =
_ o= =N

75.  The Bramaputra River originate in Tibet and is locally known as

a. Tsangpob. Dihang Dibang c. Ghagra d. Son
LTDWUSSHTT D0l eI  QUWIBL 6T SHELUGHH 6D 2 (HauTHmSI.
a.ammiGum b. Hamm Hunmi C. BB d. Gzmest

76.  Which one is the longest river in peninsular India?

a. Narmada b. Krishna c. Godavari d. Kaveri
SUSMBL BhHwimaler Hemomer b 61H?
a. BInGHT b. Smagewn . Gargmeu d.smaif

77.  The textile capital of Tamil Nadu

a. Karur b. Coimbatore c. Madurai d. Tirupur

SLODBETL 19T OhF6 dH FHENeVHSJLD

a. &t b. GamuibLgbagit C. LDGHIEDI] d. iy
78. Pichavaram has type of forest

a. Wet evergreen forest b. Most deciduous forest

c. Mangrove forest d. Subalpine forest

L& FTeuy 560 UMD HTHH6T 2 6iT6re0t

a. FILILUGEDID  HT(HEH6NT b.yomer SeeouHiT HTHBE

C. FGII BleVHHT(HH6 d. eaippall STH®B6N

79. The lending producer of Jute in India is
a. West Bengal b. Bihar c. Tamil Nadu d. Orissa
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gewiov 2 MUSHUIE0 (PHeUL L SHSHe0 2 6o BbH&Ul LOTHI6VLD
a. Gume eumstend b, smt . HOWEHTG d. gflgr

80. The green house gases
a. Absorb and reemit IR radiations partially towards earth
b. Only absorb IR radiation and does not emit
c. Only emit IR radiation towards earth
d. Reflect the IR radiation
UFmF QI B UTUHDHEIT 6T6ITLIENEI
a. 915 deaully sFTamen o Mlehd DiFHlev @rene Lbemuwl Gpresl GeueluliBLd
b. afaniy sHismen 2 saunmid GealefulTa)
C. ooy sFHiTsemen LB Ualeww Grpréadl GFasHHibd
d. 913 ey sdismen LIFHULHHE0D

81. LIaliou(meuediauiTed@heiT SIDLIT STe0L LeVaUTHEHSHEG CUT(HHBHTHEUT WiImT?
a. QUL BInGHHiT b. usGHAILev6IT
C. @ETEMGUUITIT d. AmsHs555 GHaiT

82. “olamimald HMMTHEHD HLenevll LS 6leiBl SH(HHSBMeNL LSDHSHEUT wimt?
a. asLieor b. @ememeuwimit C. LIyeuorT d. méSyeomt

83. eHemuleT LemoBUTed MbFHL EBH GOTHI6H
GI(LYEMLOW|ID. GJLOTL LD SHFHI - Bd@GmenTed alendbalILBalgd 6leiter?
a. QU oI &sD b. Qumf o &b
C. 1D&YT SIL_HBLD d. amearshHIbd

84.  FHHBTYSSTFHBEG CUBECHBIT G L GuwiT
a. QUTESFT b. e C. LD(HEIT BT d. QenssmTHT

85. Ueiteu(pld Fm@mibenen SuImuihgl Fflwmer alewLemuld CHIHOHHHS.
a. Fmlureneuenl Goaupbld SHMAIHHBSWD alHdH 616 DIGHLOLILIT
b. 8a mreorully HewnlyubssHe0 cpemrag LITUHSIONE maubBILL BeTeng
C. UTemal 6leilgl FBBlevsd 6UmBBHEH6IT 6N
d. Hmiiurenaiuied GQTEHID 30 LML 60H6T @ IDOILIBMIeT6T6.

a. Il ' Gib sHeum b. III, IV w’ G seumi
C. OaGHHID Fil d.LIL I w' @G &
86. wmmeLW al(BluSFHBalenmis UbHOHHTT aifsF Cambudbems SuimmlerntiT?
a. @ymegymey  GaFmIpest b. &Gunsaimis BT
c. afyyn@ahbHyGampest d. elé&yng Gampest
87. T GBeuehduller LT (HewL g Hen6e066wT
a. HmFQOFHABTT (LD([HEBGT b. wpefiemev (Lp(HaBes
C. SOUTLOILOEMEY (LP(THEH6IT d. upupdTE@amensy  (Lp(HSH6I

88. QUTHSHSHIS:
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9.

90.

91.

92.

93.

94.
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radiation may be one reason why the house sparrow is disappearing.

A. 1, 3,5 7,9 (LPGLEM6V
B. 6, 16 LD(HSHLD
C. 4, 14 GBUIH60
D. 10, 20 LIT6m6V
E. 8 &Mlehd

WO UNMEO R W =

SRl
N WN -~ o
Ul == U A
RO W W

G&Nehd FHewems@G i o MLCummHel
a. BBHIVID BHSSH0 BIHSHULD
b. e g 261 60 BIOSHSHIPID
c. Uflsaond Uiflsed miflgapld
d. yewiTHID LewTHed MIOHBHPLD

gilwmsll QUTHHSHUETETnHS SH6wTL 3.

A. Qumuiwr prelB sLieves - TCBI&SESS! [BLILIFENEOWITT
B. mevellengsd @Lievent - OUIHBIGGIBTES  SPmiT
C. aumuiQmfd asLieveir - [bHEBYIT
D. yevenpdadp SibHewimene - GUTHHSHO EenmisyerT
a. SIHHID Fifl b.A,C,D w' @G &
c.B,C,D w @w &f d. A, B, C w @b &M
Fill in the blanks with suitable preposition.
Birds were seen moving one place to another place the change in
seasons.
A. from, with B. to, for C.to, to D. for, for

a. X-ray b. Cosmic rays
c. Cell Phone d. Ultraviolet rays

Which of the following sentence is wrong?
a. Teach me to fish I will live for life time
b. One never knows what the future will bring
c. All that glitters is not gold
d. We has been living in this house since 1995

Blend the following words and select the correct codes given below.

A. Lecture 1. Broadcast
B. Technology 2. Music
C. News 3. Wizard




D. Pop 4. Demonstration

Q0 oo
_oR N W
N W ok = g
W = WA
=N RN g

95.  Choose the correct antonym for the underlined word from the options given.
Frailty thy name is woman.
a. Knowledge b. Loyalty c. Strength d. Pity

96. Choose the correct plural form from the options.
a. Daughters in law b. Governor Generals
c. Man Servants d. Spoonsful

97. Identity the sentence which is in the superlative degree.
a. This street is busier than any other street in the area
b. Sheriff is as tall as his brother
c. The street is the busiest one in the area
d. Your pencil is sharper than mine

98.  Choose the correct question tag for the sentence.
We speak softly ?
a. doesn’t we? b. does we? c. don’t we? d. are we?

99. Match the following words in Column A with their meanings in Column B':

Column A Column B
a. Sacred 1. spend wastefully
b. Dignity 2. tempting
c. Enticing 3. pride
d. Squander 4. divine
a b ¢ d
A. 1 2 4 3
B. 4 1 3 2
C. 2 1 4 3
D. 1 3 2 4

100. Choose the appropriate antonym of the underlined word :
Always commence your work with faith.
A. Conclude B. Continue
C. Complete D. Start
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101.

102.

103.

104.

105.
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Anitha spends X 2000 from her salary for recreation which is 5% of her salary.
What is her salary?

a. < 4,000 b. X 100 c. 340,000 d. X 10,000

OINSHST  HI@DLW  FbuesHed D%  oBTeugkt X 200083,  GuUTIpS
CuUTHHBGHF CFeAILLITeDL SIU(HENLUI FLDLIGTLD 6T60T60T 7

a. < 4,000 b. X 100 c. 340,000 d. X 10,000

A man starts from his office and goes 5 km East Then, turns to the left and again
walks for 3 km Again he turns left and walks 5 km At what distance is he from
the starting point ?

A.3 km B. 4 km C. 6 km D.7 km

QR BUT SHAH DIVII0SHH60 BhHHH HWHCH 5 .16 CFsim, S HBLD SHimbLd,
Wewihd 3 &6 BLbHH Wewihd L HUpd SHH 5 SHib BLbH CFeodmrT, Sieu
OaTLssl LBBlulledmbal eeilelene) SHMTHH60 EHESBTT?

A.3 km B. 4 km C.6 km D.7 km

Read the following information carefully and answer the questions that follow:
There are six persons A, B, C, D, E and F. C is the sister of F. B is the brother of]
E's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group.

Who is the mother?

a. A b. B c.D d.E

Leitaupld HBHeUeLHMeN LigHEh Cal sl Beiten Csealsend@ el wellbaalb.
A,B,C,D,E oppib F aeis 6 mputser @mbsent. C eemeut F a1 g8smsfl, B
aeileut. E o1 semeuflent s@amayT D eteiiueut A &1 Hphens wopmid E &1 sndhsn
NG 2 FHHwSWTHeT, 3 FHTHITHET OBBID (H HTUI DHHH G(PaNeD 2 _6TeTeoT.
wImr - gmui?

a. A b.B c.D d.E

Select the figure that can replace the question mark in the following series?
Gxpeital (7)) GPUWILL @I $&He0 aumHD ULLD 617

NNGIE,

(6] @) 3) @

W b.W A d.W

Divide Rs.700 among A, B, C so that A gets 2 times more than to B and B gets 2
times to C, how much of amount they are getting?
a. Rs.100, Rs.200, Rs.400 b. Rs.200, Rs.300, Rs.200




c. Rs.300, Rs.200, Rs.200 d. Rs.400, Rs.200, Rs.100

A-&@ B-ggi1 Gumed 2 wLmigd Ba@ Cogll Gumed 2 WLmiGD Henl @b . 700-
o UMgHamed SleuTaer OUBID OHTend 6l6lal6Te?

a. Rs.100, Rs.200, Rs.400 b. Rs.200, Rs.300, Rs.200

c. Rs.300, Rs.200, Rs.200 d. Rs.400, Rs.200, Rs.100

106. If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as
961473, what will be the code for SEARCH?
a. 246173 b. 214673 c. 214763 d. 216473
@ GBluiged ‘ROSE’ ereiiig 217 ‘CHAIR’ eteiiug ‘73456" etafled "PREACH’
aaiug 961473 eaafled ‘'SEARCH’ earaiiig?
a. 246173 b. 214673 c. 214763 d. 216473

Q.NO (107-108) Directions : Study the following table chart carefully and answer
the questions given beside.

In the following table four persons P, Q, R and S are selling items on different days
of the week.

LNeiTou(HD DI L 6uenemieni! HeUIoTEL LIgshgl H6 CdmBaHalul Beten CoeialseEndE
Lgl6v6rlbdHe|LD

Breid mBuUTset P, Q, R ioBmib S anysgler CeusiGaum mrseflsd GLTHL semen alli3Lienedt
Q&FUIULD  6T600T600N 6N D

P QO R B
i?;ngggm 15 4o P5 PO
Sunday

b ieni 10 55 48 P5
g@‘.’ggfﬁyww b5 o h5 1
EE;SS?UYJ 35 W5 U2 139

107. What was the ratio of item sold by P on Sunday & items sold by S on Saturday?
@TUIBBIGSImD P 960 alBsiiul L GuTbL &6l BHBID Falldbdlpmo S o6y
alBaslu’ L QuTmL seflet alldlHd eTeiren?

A.3:1 B.11:8 C.2:1 D.9:13

108. What is the average of the items sold by P, Q and S on Monday, Tuesday and
Saturday respectively?
FHmiwel, GFeleumul BEID Felddlpamosefsy (weapGw P, Q wmmpid S aiB@b
QumpL_serileir Fyma eTevT60r?
A.33 B.30 C.28 D.35
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109.

110.

111.

112.

113.

114.
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The length of a rectangle is increased by 10% and its breadth is decreased by
10%. The area of the new rectangle.

a. remain same b. is increased by 1%

c. is decreased by 10% d. is decreased by 1%

R OFaeusdhder pemd 10% HaENESIUGEBSH OBBID SIGHT  SiBevd 10 %
GOBEBILBHBSHI 6Terle0 LGHwl CFeleussHHe1 LIFLILIeTE).

a. LTBToeV(HBEHLD b. 1% oHafagb

c. 10% @emmujid d. 1% @empud

A car runs at the rate of 15 kmph during the first 30 kms and at 25 kmph during
the second 50 kms. What is the average speed for the entire trip?

a. 15 Kmph b. 20 Kmphc. 25 Kmph d. 30 Kmph

QH ST (WHe0 30 B8 HMIHms 15 H.16./ e welldbg aams Gaus aldshHalb,

9IBHS 50 b smysHHamer 25 H.b. / @ welsbE oo Cous el sHsaH eI
RBHOBGEH. OIoTHSH LWIHTTHH0 DiFH @ul FTrafl CousaldHid ereien?

a. 15 &, / wenl b. 20 & / wewd

c. 25 &S / wewil d. 30 &S / wewf

One year ago a man was 8 times as old as his son. Now his age is equal to the

square of his son's age. Find the present age of the son.
RH UMBLSHDBEG (Well] SHhenHullel eULISTIH el euwen Sl Gumen 8
DL BISTGWD. SBOUTHSHW FHHenHuller IuIF LSEIML U LSBT THHHHBEGHF
FI0D 6160160 LDBHeNE HBOLTMSHUI 6UUIZI 6T65T6017

a.9 b.8 c.”7 d.6

The sum of two numbers is 22 and sum of their squares is 404, then the product
of these numbers is
a. 40 b. 44 c. 80 d. 88
Brewi® eTewidbellen FnbhHeo 22 BEID DieICeUaTHIHaTT aIThEmIB6NT FnbBHeo 404
aTedlled Sleuall(h eTewideillent QLI SHBMLIEVET WITSHI?
a. 40 b. 44 c. 80 d. 88

A goods train runs at the speed of 72 kmph and crosses a 250 m long platform
in 26 seconds. What is the length of the goods train?

a.230 m b. 240 m c. 260 m d. 270 m

R FI5G Juled 72 &b Gousdhdled 250 16 mHen(peiten Hewl CoemLenul 26
alemgselled HLSHMGEH. FTHEG Tulede HeD 6T6oT6nT?

a.230 m b. 240 m c. 260 m d. 270 m

The difference between the simple interest and the compound interest at the
rate of 12% per annum on Rs. 5,000 for 2 year will be
A.Rs.17.50 B. Rs. 36 C.Rs. 45 D.Rs. 72
500068 2 owibsefled 12% ey aldssHdHed sl ly LBBID g6
QUL IQSHFHTET aGHHUITFLD




115.

116.

117.

118.

22 | Page

A. @.17.50 B. t. 36 C. . 45 D. 5. 72

If white is called blue. Blue is called red, red is called yellow, yellow is called
green, green is called black, black is called violet and violet is called orange,
what would be the colour of human blood?
a. Red b. Green c. Yellow d. Violet
Oaueitemen  [HELIDTHAD, [Hevd  Fleulmseyd, Feaull] EhFNTHAD.  LDEhF6IT
LUFMFWTHD, LUFMF SH(HLLTSHAD. (UL DMHTUTHAD, DMHT HJEHFTHLD
aBLUILILLTED, LOSHT BISHHHH 6T BB 6T6vT6n?
a. dleuly b. usens C. LDEhF6IT d. eamgm

The sequence of folding a piece of paper and the manner in which the folded
paper has been cut is shown in the figures. How would this paper look when
unfolded? Choose from the option figures A, B, C and D.
RH  BTHHHMS LRSS  aflenFpBHEHD DwdH Geul B  (LpenBULD
CHTRHBUUL(BelTengl. DipH STHBHHMmS alflSaTed SiFH  eeueuTy  BHSHGLD
aeilend  CBETHSSLILULL BTG  ULBGeNe0  @mbgh — Fllwmer — getens
BaiTH0HHSHHALD.

2 o u i

Ship: Sea :: Camel : ?

a. Forest b. Land c. Mountain d. Desert
SLIL6D : HL6D : : @UL&D : 7
a. & b. Peolb  C. WMEGHOHTLIT d. uremeveleTD

Arrange the given words in a meaningful sequence and then choose the most
appropriate sequence from amongst the alternatives provided below each
question.

1) Police 2) Punishment 3) Crime 4)]Judge 5)Judgement

a.3,1,2,4,5 b.1,2,4,3,5 c.54.321 d.3,14,5,2

&6 OBHTHSHBILL(HelTeN  aUTTHMBHMENT  DITHH(WeTen  auflenguiled eumaLILIHSHS

SIFHe auflengenul GsTHSHSLILL [HeiTen HTerd alHlumSeled OFHfley OQFuls.

1. ®M6eu6L HiemM 2. 3H60TL 6060 3. &BMDLD

4. BHHUG 5. &y

a.3,1,2,4,5 b.1,2,4,3,5 c.54.32/1 d.3,14,5,2




Q.
Hereumd euenguLSend Oamewih Cxealsendd LS evelbaa|b

600
300
400
300
200 -

100 -

119.

120.

121.

122.
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NO (119-120) Study the following line graph and answer the questions.

Expenditure

ol COMe

1596 1357 1338 159% 2000 2001

What is the average profit earned (in crore Rs.) in the given years?
CaTHHBLILLL  Sienihamerned FLigul Fymgll eomud (Bsmg epLTUISETN6D) 6l6wT60r?

A.831/3 B. 600 C.1132/3 D. 200

What approximately is the percent profit earned during the year 1999?
1999 91D &6emTg60 FLIQUI 6UTL FHAIFHLD CGHTITUIDTS 6l6iieueNe),?
A. 48 B. 43 C.52 D. 49

Introducing a man, a woman said, "His wife is the only daughter of my father".
How is that man related to the woman?
a. Brother b. Father-in-law c. Maternal Uncle d. Husband

@b BUMIF &y @ Guewt, “@euflar wemeral elar FHhHewsuler @Gy D6
STIMMT. OIbH LWl OlLIewTIeNIBEG 6l6Ie 2 B6)]?
a. sCarayiT b. wmoertt . Ul e oMo d. seweuf

In each of the following questions, choose the Venn diagram which best
illustrates the relationship among three given items.

Mobile phones, Electronic devices, Laptops
CaThdalu’ L Geuel LLMmS6T0 alamdsendd gbm gFllwmer  alenenul
BHHOBH.

Qorenuied BuTe®e, OGO FTHETHIGHET, LDIQ 6001 601 BN

© 00 © ,ao




123.  Four numbers are given. Out of these, three are alike in a certain way but the
rest one is different. Choose the one which is different from the rest.
Wetouhd  aleaméseiled OBTHHBLIULL BT 6160IH6eN60 66iIml L (HLD oMM

epGITIL 65T GFHTLTLIe060TIOED 2 6TeNgl. SiewdH OFfe| OCFuIs.
a.2 b. 16 c. 56 d. 128

124-126 Directions : Study the following pie chart carefully and answer the
questions given beside.

The pie chart shows the percentage of the number of calculators manufactured on|
five different days of a week .

The total number of calculators manufactured on Wednesday is 1680.
Netteuhd  aleMSBILL HDEH HAUTDTH  LIghdHl, BTHHSILL[BHelTen  CHeialdEndE
LFleverldaaLb.

R  uMISHHer mbaH  OQeueiBGeaum BT &eMed HwmhhslIULL  HTe0GG60L L THeien
eTen60T BT FHIHHMS aleNSBLILLLD ST (HSHBSI.

LSHeBIpenID SWMTSSILL L GoTHs STev&HEe0L L THerMer elamienidamnd 1680 SiEGLD.

124. Find the average of the number of calculators manufactured on Monday,
Wednesday and Thursday together?
Hmiden,  Upet  ommid  eflwmpest  euduwl BIL&elled sumfldsiiu L
HTeLGHG6VL L THeM6il  elemienlldbendullen FImaflenuld SHTemnidb

A.1370 B.1470 C.1540 D.1610

125.  Find the ratio of number of calculators manufactured on Monday to the number

of calculators manufactured on Wednesday.
gHmiseney SWThobsIUL L HTe0GHGL L THeNer 6l6ewenllbamdH@GD  L|H6TISIpmLD
sumfasiul L &Te0&HGe0LLTHeMar  6lamienlbmdHGD 2 6en  aldHGHHmeHd
H6WIL_NSlUIeYLD
A.1:2 B.2:3 C3:4 D.4:5
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126.

127.

128.

129.

130.

131.
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What will be the difference between the average of number of calculators
manufactured on Monday and Wednesday together and the average of number

of calculators manufactured on Tuesday and Thursday together?
SHmIG6T LBWID  YHedlpamnselled sHumhebsiiul L smeu@GGeul LiTseller  gyma
oTeNIeMNHMBHGHD OFaleuTul LOBMID elwmpet S&Hul BT &6eried Hwmildsli’ L
&T160& G0l L THeilledr Fyma eTewnienllbmadh@Gd 2 6ien alSHHWTFID HTewIH.
A. 210 B. 240 C. 270 D. 310

Find the oddman out in the following: 5, 6, 10, 20, 35, 60, 96

A.6 B. 10 C.20 D. 35
LNeiTeu(hHD eTewidHeil GHTL Tauflenguled QUITHHSTSH 6TewTeN6mTS SHT6Ew0I5Sb.
5, 6,10, 20, 35, 60, 96

A.6 B. 10 C.20 D. 35

Which of the given options will complete the given pattern?
275,7Y7,14X9, 23W11, 34V13, ?
A. 27024 B. 45U15 C. 47U15 D.47V14
SPHHMILaBNBe0 61&H CETHEHBLILLL BT Hevme] Gauiujb
275,7Y7,14X9, 23W11, 34V13, ?
A. 27024 B. 45U15 C. 47U15 D. 47V14

If the ratio of the ages of son and father in 2014 and 2022 are 1:4 and 3:8
respectively then the sum of the ages of son and father in 2010 is

a. 42 b. 43 c. 50 d. 45
2014 1oBpdb 2022  SLewi(h BT  IOBBID  HHewdH oSGl  euuwigiBHeren
alFemisen (1pemmGuw 1:4 1oBmIDd 3:8 eelled 2010 LD HLEWI(H OH6T LOBBILD HHENS
S FCwTheT uwIGHIBHeMesr FnbHHev.

a. 42 b. 43 c. 50 d. 45

Five friends - A, B, C, D and E are sitting around a circular table facing inside
but not necessarily in the same order. E is second to the left of A and immediate
neighbour of B. D sits between A and B. Who among the following sits adjacent
to E and D?
a.D b.C c.B d. A
obgl pewilser - A, B, C, D wBpib E ¢ e’ Goemgulsd Sioibaieiermer.
et 9I8% auflemguied Bmedd Geuswniguwl Sleudlwidsvensv. E  eratuaum AdbE
B B> BTewI_TousHTHad WBpId Bésg o Leng oimalsd o etenir. D erere
A b Bég Gmiuled ouombgetenT. gefled E wmmid Dd@  Simaled
SIDTHSHLILIGUT wWITT?
a.D b.C c.B d.A

Insert the missing number.
2,6,12,20, 30,42, 56, .
&Bpueiten OHTLT euflenguled alBLIL L 6T6xTEmIT6IIS)
2,6,12,20, 30,42, 56,




132.

133.

134.

135.

136.

137.
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a. 62 b. 72 c. 64 d. 68

Mango : fruit : : potato : ?

A. Root B. fruit C. Stem D. Flower
DT : LIPID : : ©_(HeWeNbBIPBIF -7
a. Geurr b. wpib C. Hewi(h d. weor

If Arjun finds that he is twelfth from the right in a line of boys and fourth from
the left, how many boys should be added to the line such that there are 28 boys
in the line?

a.12 b. 13 c. 14 d. 20

ofdesr @  aflmguled  aueoBhHEH  USTNTERILToUSTEHAD, S 1O(HHS
BIGISTUSTEHAD QHHSTT. Djeieulenguled adHHmen Cuemy GCFTHsHTed GILOTSHSHLD
28 Guit ®mLuir?

a. 12 b. 13 c.14 d. 20

If TRIANGLE is coded as SQHZMEFKD, which word would be coded as

DWZLOKD?

A. DISMISS B. DISJOIN C. ADJOINT D. EXAMPLE
o FhBss Omfiuied, “TRIANGLE” aeib amitshomg “SQHZMFEFKD” aeiy
Bl eTpSLILGHBH. BamHIBUTVG 6h% auTHmwnears DWZLOKD  eren|
LoTILD?

A. DISMISS B. DISJOIN C. ADJOINT D. EXAMPLE

The Population of a village grows by r% every year. In 2 years the population|
increases from 10000 to 11025. Then r is
a.b b.3.5 c.2.5 d. 1.5
QM BHITDSHHT 105H6T OHTenD MG AW % iFHD FITS gnigd OQBTERI(H
CFeodmgl. 2 LeuiBHeled WHFHeTeGHTend 10000 HHmbaH 11025 s
SIF B M HSBI6T6eNGI. 6lerled I 666667
a.b b.3.5 c.2.5 d. 1.5

A and B together can do a piece of work in 3 days. If A does thrice as much work
as B in a given time, find, how long A alone would take to do the work?
a. 4 days b. 7 days c.9days d.12days
A oppib B @enewibagl qp Cauemevenut 3wl serflsd OFuigiel  (wigujb. A @
GUUILL CrrsHzled B— & alL cpsaim wLmiE SiHswrs Geauemsv GFUIHTe0, A
LB b Cousmevenwid GFUILI 6161I616Te | BT GH6T DLEGLD.

a. 4 days b. 7 days c.9days d.12days

In the given figure if Triangle represents healthy people, Square represents old
persons and Circle represents men then What is the number of those men who
are healthy but not old?




(OE(CF:F: AN UL $&lev (p&HBHTemTLD TS S WILDTeTeUEmTULD, FHITLD
AUWISTRIUTHETUD, Il LD enisemenud GBUINGSHBEH. eelled LGITHESWIDTS
DHIGD DETTE0 QUULISTHTSH DIL6ITH6N6  6T6I01601HNHMUI  SHT6IIb.

a.3 b. 4 c. 6 d.2

Q.No. 138-140 Directions : Study the following bar chart carefully and answer
the questions given beside.

The following bar graph shows the amount of production and sales over the

years.(in tons)
Nettouhd UL el allendbSULL SHDEH HEURIDTS LIQHHI, STHEHBLILL (HelTen Coelaldend@
LFleverllbaaLb.

ereupld LLenL euedJLLLD 2 BusHsl LBmid  ealBuameiule Sienemelds ST (HHBSI.
(La31p61T60)

200 B Production W Sales

250

240
210 200
200 180
160 W50 150
150 195 14[]135
100

100 a0

50

0

2012 2013 2014 2015 2016 2017

138. What is the ratio of total production to total sales during the 6 given years?
CaThdalu’ L 6 SeuBaeiey OTshsd o MusHEH wBmpid Owrshs  elBueTule
l&lHLD eT6dT6017
a.19:15 b. 209 : 166 c.17:15 d.207:166
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139. In which of the following years the difference between production and sales
was maximum?
LNeiTeu(Hd 6lhd SewihHelled 2 BUSHHGWD alBumaibGHlD vl Cuiwmer Geupun®
SIHBULFIOTH 2 _6iT6eNG)]?
A.2014  B.2015 C. 2016 D. 2017

140. What is the approximate percentage increase in production from 2016 to 2017?
2016 (pxev 2017 euemguievmen o @MuSHEH o witaler GHTITUIOTET FHAIHLD 6165T6r !
A.50% B. 55% C. 60% D. 65%
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TNUSRB - SUB INSPECTOR RECRUITMENT TRAINING - 2022

MODEL EXAM | - GENERAL STUDIES AND PYSCHOLOGY

1 2 3 4 5 6 7 8 9 10
A C D B A A B B C D
1 | 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
C A D A C C A A A C
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
A C D A A C D A A A
31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
B B D C B C A D B A
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
B A D C D A D A B D
51 | 52 | 53 | 54 | b5 | 56 | 57 | 58 | b9 | 60
C D A C D B D C B C
61 | 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70
B B B C C C C B B D
71 72 73 | 74 75 | 76 | 77 | 78 | 79 | 80
A B D D A C A C A A
81 | 82 | 8 | 84 | 8 | 8 | 8 | 88 | 89 | 90
D B A C C C C B D D
91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 | 100
A C D C C A C C D A
101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110
C A D D D B C B D B
111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120
C A D D C C D D A B
121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130
D A C B C A C C A C
131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140
B C B D A A D A C C
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